_ - BREEXLCBHERSLIVAOHNTAH SR (LEER)  THsFIAXES
BT 4 3k 5 X &t BT 4 HE 5 % it BT % HER 5 = it
HE1TH 145 152 168 320|%EI3TH 412 488 528 1,016|FR7E1TH 144 124 149 273
#$BI2TH 111 112 120 232|ZHT4TH 276 307 305 612|mR7E2TH 225 215 262 477
#HEISTH 166 154 180 334|s=HT 365 451 455 906|FR~7 E3TH 80 64 97 161
EHHE 282 216 281 497 | P & 5 HET 664 663 827 1490 AEEHHE L 422 525 558 1,083
NBET 488 508 533 1,041 FEK LRT1TH 236 201 143 M| BEFA/K 194 235 264 499
AHT 206 205 237 42| FIEE ERT2T B 106 116 107 223| HRE T 213 278 289 567
JuHT 258 295 292 587| P2 LEI3TH 353 348 379 727|BEEHFAEH 437 603 644 1,247
FFHIET 281 288 321 609| Ry E1TH 334 327 385 712| HEFEFO 413 582 591 1,173
FEAET 327 337 365 102| Ry E2TH 234 293 264 557| HAREFFE £ 851 1,192 1,206 2,398
EM1TH 782 860 833 1,693| Ry E3TH 274 290 312 602| HAREPEE H 836 949 1,010 1,959
EW2TH 557 520 423 3| R EATH 199 218 243 461| BB FFEF < Bk 1,805 1,926 2,067 3,993
WE1TH 176 218 189 407|R~7 E5TH 114 134 129 263|%RE 591 721 785 1,506
WE2TH 499 530 507 1,037| Ry EEE 0 0 0 O|RERDE 1,016 1,242 1,268 2,510
WE3TH 224 184 260 A44| T RET 717 825 835 1,660| RiEFDE 471 585 611 1,196
FEB1TH 243 226 218 444| RHEE 189 163 192 355 | RiBEANE 624 761 811 1,572
FiEB2TH 1,069 1,112 1,253 2,365| R IRHAT 174 166 216 I | RIEHFRERS 303 234 386 620
FAEIK3TH 362 382 369 751 | RIRAT 153 109 183 22| REFE—EE 223 206 242 448
FEB4TH 226 261 261 522| B HHET 361 420 418 838| L Z L 124 150 176 326
KEHET 267 266 305 571 | B R RAT 838 836 888 1,724| £ 2 B3 H35 85 113 113 226
Ei) 117 99 114 213| TRErRAT 147 158 177 335| EZ % 121 188 171 359
= EHE 197 176 201 M| EBEEhREE 433 298 458 756 £ 2 LA 167 237 229 466
KEE1TH 250 239 267 506|#8/R 751 775 860 1,635| £ 2 &t 421 554 555 1,109
K#FE2TH 330 383 385 768|#8/F1TH 193 188 215 403| £ 2 BT AT 301 414 416 830
LTET1TH 425 465 473 938|#8/H2T H 369 433 47 904 | Z S48 E 32 46 50 96
LHT2TH 439 419 468 887|#8/H3TH 167 179 213 32| R 1,021 1,211 1,292 2,503
LtHI3TH 330 243 309 552|#ER4TH 339 387 406 7193|FEW1TH 172 160 178 338
HiEE1TH 87 128 131 259|#8/R5 T H 211 252 250 502|$f=H2TH 381 443 428 871
TiEE2TH 154 185 204 389| FTEE 203 223 248 AN |FHRWITH 576 488 614 1,102
HiEHEITH 92 115 126 21| TRE1TH 184 185 182 367 | EA 450 507 532 1,039
HiGEmE1TH 391 376 410 786| FEE2TH 101 142 133 275 | PR R AT 165 202 224 426
hi5fE2TH 133 137 150 287|TRESTH 614 632 675 1,307 |FE A2 FFE AT 462 472 502 974
HiGEwE3TH 409 326 371 697| TRE4TH 77 67 84 151| 4 183 201 234 435
higE1TH 187 191 192 383| TRESTH 291 301 308 609| KK 397 385 366 751
TiEE2TH 75 100 104 204| TRE6TH 104 104 105 209| KO #HH 1 1 0 1
hi5#E3TH 3 2 7 9| LERE 1,241 1,452 1,445 2,897|YALSESEI 135 120 15 135
EWE1TH 392 352 422 774 0 E 1,594 1,871 1,944 3,815|WALSEER 202 118 86 204
BME2TH 571 641 755 1,396| RGs E{EE 41 42 48 90| RN ZEHEI 0 0 0 0
EMAE1TH 373 436 447 883|MEA1TH 0 0 0 0
=ifE2TH 283 363 389 152|EE2TH 394 481 514 995
=2iE1TH 244 246 289 535|#EE3TH 24 37 44 81
BWE2TH 72 80 83 163|Z1TH 245 311 338 649
=2 FE3TH 260 253 313 566|&2T H 191 218 219 437
=idt1TH 274 294 344 638|iE3TH 469 497 559 1,056
adt2TH 340 314 321 635|F4TH 300 303 335 638
hlrT1TH 425 463 464 9027| AFERZE 192 182 136 318
hET2TH 248 228 227 455|{F HHT 10 4 8 12
hET3TH 183 205 195 400 | AT 1 1 1 2
hBT4TH 93 92 85 17714EHE 824 630 857 1,487
ER1TH 284 327 382 109|FwIEH A 285 266 323 589
ZEET2 T H 379 488 496 984| RILEF A 181 174 211 385

= A 45128 48792 52.236 101,028




